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1. Kpurepuu u cpeacTBa OLleHUBAHUS KOMIIETEHIMI U HHIAMKATOPOB MX 10CTHKeHUSs1, opMUPYyeMBbIX IMCHUILIHHOMH (Moay1eM)

Kon n Kol 1 HAMMeHOBANHe Pe3yabTaThl 00yueHHs M0 TUCHUILINHE (MOAYJIIO) OnueHovnbie OuenounsIe
HaNMeHOBaHHe HHANKATOPAa(0B) A0CTHKEHHSI TcepKe;IcuTeBri cpeacTBa
KOMIIETEeHIIUT KOMTIETEeHI[UT MPOMEKYTOYHOI
3unamo Ymems Bnaoemp KOHTPOJIS
aTTecTaluu
VYK-4.1. Brageer cucremoit HoOpMm TEMaTUYECKUH CIIOBaph; paboTarh ¢ JIeNIoBO HaBBIKAMHU
PYCCKOTO JINTEPATYypPHOTO SI3bIKA TIPU OCHOBBI OpTaHH3AINH JIOKyMEHTaIMel Ha S3bIKe, paboTHI C
€ro UCIOJIb30BaHNH B KAQUeCTBE JICTIOBOM KOMMYHHUKAIIUU BKITIO4as Takue (POpMbI KaK JIeJIOBOM
rOCy/IapCTBEHHOTO sA3bIKa PD u Ha aHIJINHCKOM SI3BIKE; pestome, OM3Hec-TLIaH, KOPPECHOHICHIIN
YK-4 Cnocoben HOpMaMH HHOCTPAHHOTO(BIX) OCHOBHBIC ()OPMBI JIeNoBasi pe3eHTaLus, eil; HaBbIKaMu
OCYIIECTBIISTh SI3bIKa(OB), HCTIOJIb3YET Pa3IUuHbIE JIeTIOBOM JIOKYMEHTAIUH JIeTIOBOE MHCHMO; paboTaTh CO | MPOBEACHHUS
JIETIOBYIO (OpMBI, BUIBI YCTHOW M TUCEMEHHON Ha aHIJINHCKOM SI3BIKE U CJIOBAPSIMU, SHIMKJIONEUSAMHU | JIMHIBOCTHIINCTUY - THIOBBIC
KOMMYHHUKAIHIO B KOMMYHHUKAI[HH. CHOCOOBI ee BeIeHHsI U IPYTHMU CIIPABOYHBIMH €CKOT'0 aHan3a 3a7aHAs JUTS
YCTHOHU U YK-4.2. Uctionb3yeT S3b6IKOBBIE MarepuagaMu TEMaTUYECKOU JIEJIOBOTO TEKCTa BBIMOTHEHUS
MTUCbMEHHOM (hopMax | CpencTBa Ajst JOCTH)KEHHS HarpaBJIeHHOCTH MIPaKTHYECKUX Pabota Ha 3aHATHAX
Ha TOCY/IapCTBEHHOM | MPO(ECCHOHANBHBIX [eNIeH Ha PyCCKOM pabor; Tecr
s3p1Ke Poccuiickoit 1 MHOCTPaHHOM(BIX) S3BIKE(aX) B - TECTOBbIC
denepanuu u paMKax MeXJIMYHOCTHOTO U 3afaHmd,
WHOCTPaHHOM(BIX) MEXKYJIbTYPHOTO OOIIECHHS.
A3bIKe(ax) VYK-4.3. OcymectBusier
KOMMYHUKAIIMIO B IU(PPOBOIi cpeie
JUISL TOCTIDKEHUS! TPO(ecCHOHATBHBIX
uenei 1 3pHeKTUBHOTO
B3aUMOJICHCTBHSL.




2. OueHka ypoBHsi ¢(hopMHPOBAHHOCTH KOMIETEeHINH (MHIUKATOPOB UX TOCTHIKEHHUS)

IMoka3zarenn lkana u KpUTEPUH OLleHKH YPOBHS ¢hOPMHPOBAHHOCTH KOMMETEeHIHIl (MHIMKATOPOB UX A0CTHKEHH)
ouenusaﬂnﬂv Hwuxe moporosoro Iloporossbrii IIpoaBUHYTHIH Broicokuii
KoMIETCHIHH («Heyooe1emeopuUmenbHO») («y0oeremsopumenbHo») («xopouioy) («omauuHo»)
(MHAMKATOPOB
HX JTOCTHHKEHHUS)
ITosiHOTA YpoBeHb 3HAHUI HIKE MuHNMaNbHO IOIyCTUMBIN YPOBEHb YpoBeHs 3HaHUH B 00BEME, YpoBeHs 3HaHUH B 00BEME,
3HAHUHT MUHUMAIBHBIX TPEOOBaHWH. 3HAHHH. COOTBETCTBYIOIIEM IIPOrpaMMe COOTBETCTBYIOIIEM IPOrpaMMe
Nmenn mecTo rpyOble OMMOKH. JlonymieHs! He rpyOble OMIMOKH. MOATOTOBKH. TTOJITOTOBKH.
JlomynieHbl HEKOTOPbIE MOTPETHOCTH.
Hanuumne Ipu BBINONHEHUY CTaHAAPTHBIX IIponeMoHCTpHpPOBaHBI OCHOBHBIE IIpogemoHCcTpUpOBaHbI Bce OCHOBHBIE | IIpoeMOHCTpHPOBaHbI BCE OCHOBHBIE
yMeHu# 3a7aHUi HE IPOJIEMOHCTPUPOBAHbl | YMEHHSI. YMEHHSI. YMEHHSI.
OCHOBHBIE YMEHHS. BbInonHeHbI TUIIOBBIE 3a/1aHUS C HE BbrInonHeHbI Bce OCHOBHBIC 331aHNs ¢ | BBINOIHEHBI Bce OCHOBHBIE U
Nmenu mecTo rpyObIe OmmOKH. IpyOBIMH OIINOKaMH. HEKOTOPBIMHU IOTPEIIHOCTSIMH. JOTIOTHUTENbHBIE 3alaHus 0e3 OIUOO0K 1
BrImonHeHs! Bce 3a1aHus, HO HE B BrImnonHeHs! Bce 3a1aHNs B TOJTHOM MIOTPEITHOCTEH.
OITHOM 00BeMe (OTCYTCTBYIOT 00BEMe, HO HEKOTOPBIE C HeloYeTaMi. | 3aJaHWs BHIIIOJHEHBI B TIOJTHOM 00BeMe
TTOSICHEHM S, HETIOJTHBIE BBIBOIBI) 0€e3 HEIOYETOB.
Hanuuue [Ipu BEHITOTHEHNH CTaHAAPTHBIX Nmeercss MUHUMAaTBHBIA HA00D [ponemoncTprpoBaHb! 0a30BbIE IIponeMoHCTpUpPOBaHBI BCE OCHOBHEIE
HABBIKOB 3aJlaHuii He POJIEMOHCTPUPOBAHBl | HABBIKOB ISl BHITIOTHEHUS HaBBIKH ITPH BBITIOJIHEHUT YMEHHSI.

(BJ1a/1eHHE ONBITOM)

0a30BbIe HaBBIKH.
Nmenu mecTo rpyOble OMIMOKH.

CTaHJapPTHBIX 38.}18HPII>1 C HCKOTOPBIMU
HECOO04YCTaMu.

CTaHJAaPTHBIX 3aI[aHHﬁ C HCKOTOPBIMU
HEOO0UYCTaMMU.

BrInosiHeHBI BCe OCHOBHEIE H
JIONOJIHUTELHEIE 3aMaHusl 0€3 OIHMOOK U
MIOTPELLIHOCTEN.

[IpoIeMOHCTPHUPOBAH TBOPUECKU I
MOJIXO K PCIICHUIO HECTAaHAAPTHBIX
3a/1ay.

XapakTepuCTHKA
copMHPOBAHHOCTH
KOMIIeTeHIIHH

Kowmrmerenun paktnaecku He
c(OpPMHUPOBAHBI.

Hmeromuxcs 3HaHUM, yMEHUH,
HaBBIKOB HEIOCTATOYHO TSI
peIICHUS MPaKTHIECKUX
(mpodeccroHaTBHBIX) 3a1a4.

Wi

3aueTHOE KOJIMYECTBO OAJLIOB HE
HaOpaHO COIJIACHO
YCTaHOBJICHHOMY JIHANa30Hy

ChopMUPOBAHHOCTH KOMITETCHIIHI
COOTBETCTBYET MUHUMAITbHBIM
TpeOOBAHUSM.

Nmeromuxcst 3HaHUM, YMEHHH,
HaBBIKOB B I[€JIOM JJOCTATOYHO JJIs
PpelIeHNUs MPAKTUIECKUX
(mpodeccroHaTBHBIX) 3a1a4.

nIn
Ha6paH0 3a4eTHOE KOJIMUYECTBO OAIOB
COTJIACHO YCTAHOBJICHHOMY IHAIla30HY

CdopMupoBaHHOCTH KOMIICTCHITHN B
IIEJIOM COOTBETCTBYET TPCOOBAHUSM.
Hmeromuxcst 3HaHUM, yMEHHUI,
HAaBBIKOB JJOCTATOYHO JJIsl PEIICHUS
CTaHIAPTHEIX MPO(HECCHOHANBHBIX
3aj1ad4.

nIn
Ha6paHo 3aUeTHOE KOJUYECTBO OallJIOB
COrjaCHO yCTaHOBJICHHOMY AHAIla30HY

CdopMHupOBaHHOCTH KOMITCTCHIIAN
MOJIHOCTBIO COOTBETCTBYET
TpeOOBaHUIM.

Nmeromuxcst 3HaHUM, yMEHUI, HABBIKOB
B [IOJIHOM Mepe JOCTATOYHO IS
pELIEHUS CIIOKHBIX, B TOM YHCIIE
HECTaHIapPTHBIX, MPO(eCCHOHATTLHBIX
3a/1ad.

Win

HabpaHno 3aueTHOE KOJTHYECTBO OAJIOB
COTJIACHO YCTaHOBJIEHHOMY JIUAIa3oHy




3. KpuTeplm M IIKAJa OLleHUBAaHUS 3aJaHNil TEKYIIEro KOHTPOJIs

3.1 Kpurepuu 1 Ikajia OLEeHUBAHUA OPAKTHYECKUX DPadoT
[lepeuenp mpakTUUECKUX pabOT, OMHCAHHWE TMOPSAKA BBIMOJHEHUS M 3alIUTHI PabOTHI,

TpeOOBaHMS K pe3yibTaTaM pabOThl, CTPYKTYPE U COACPKAHUIO OTYETa W T.II. TIPEICTABICHHI B
METOIMYECKHX MaTepuajax 1Mo OCBOCHHUIO JHUCIMILUIMHBI (MOIYJS) M B DJIIEKTPOHHOM Kypce B
ONOC MAY.

Ouenka/6anibl Kpurepuu onennBanus

Omauuno 3amaHue BBITIOJTHEHO MOJIHOCTBIO u MPABUIIBHO. Ortuer o
J1a00paTOPHOM/TIPAKTUUECKOW pabOTe MOATOTOBJICH Ka4eCTBEHHO B COOTBETCTBHH C
TpeboBanusMH. [107HOTa OTBETOB Ha BOIPOCHI MPEMOAABATEIIS IPU 3aIUTE PAOOTHI.

Xopowo 3ajaHue BBINIOJIHEHO IOJHOCTBIO, HO HET JOCTaTOYHOTO OOOCHOBAaHMS WM IIPU
BEPHOM pELICHHM JOMyIleHa He3HauyuTeJbHAs OIIMOKa, HE BIHMAIOIMIAs Ha
NPaBUIIBHYIO TIOCJIEA0BATEILHOCT paccyxIeHuid. Bee TpeboBanms, penbsaBisieMble
K paboTe, BHIOIHEHBI.

Yooenemeopumenvno | 3ajaHus BBINOJHEHbl YaCTUYHO C OMIMOKaMu. JIeMOHCTpUpyeT CpeiHHH YpOBEHb
BBITTOJTHEHUS 3a7aHus Ha Ja0OopaTOpHYIO/TIPAKTHYECKYyI0 paboTy. BosbmmHCTBO
TpeOOBaHUH, IPEIBSBISIEMBIX K 3aJJaHUIO, BHIITOJIHEHEI.

Heydosﬂemsopumeﬂbuo 3aI[aHI/I€ BBIIIOJHEHO CO 3HAUMTEIBLHBIM KOJIIMYECTBOM OIIHOOK Ha HU3KOM YpOBHE.
Mmuorue ’I‘pe6OBaHI/IH, npeaAbABIIACMBIC K 3a1aHUTO, HC BBIIIOJIHCHDI.

i

3aI[aHI/Ie HEC BBIIIOJIHCHO.

3.2 Kpurepuu 1 mkajia OleHHBAHMS TECTUPOBAHUSI

[lepedueHp TECTOBBIX BONPOCOB M 3a/JaHMI, ONUCAHHWE NPOLENYPbl TECTUPOBAHUS
MPEJCTaBICHBl B METOAMYECKUX MaTepuajax IO OCBOCHMIO JAMCHUUIUIMHBI (MOAYJs) U B
anekTpoHHOM Kypce B OMOC MAY.

B ®OC BKIIIOUEH TUIIOBOI BapuaHT TECTOBOIO 3aaHUS:

1. The odd one out
Circle the word that does not belong to the same field in each horizontal group:

business company society subsidiary
salary manager salesman employee
finance product research marketing
distributing  selling assembling  promoting
components  tools hardware strategy
end user customer client distributor

Il. Word definition

Which of the groups of three words that you identified above refer to the following
definitions?

people Who buy goods OF SErVICES..........oovviriireiiiireisisee e

types of commercial organisations...........cocoveie i ie s e

different departments or fTUNCLIONS..........cccoviriiiiirie e

people Who work inside @ COMPANY........ccveevveiieiieeeiie e

activities that involve meeting CUSIOMErS........c.ccoveeviveiiie e e

products that can be SOId..........cooveiie e



I11. Adjectives of Nationality

Read the ten short passages. Below each one you will find a sentence which you
should complete using an adjective of nationality. Make sure that your sentences reflect the
information that is contained in the passage itself.

Packard Bell Electronics has already taken 10% of the US computer market and has
perform better, in some areas, than its two main national rivals Compaq and Apple. Compag,
Apple and Packard bellare ....................

Nordak is currently recruiting a senior manager who will head up the UK office of its

first foreign subsidiary. Nordak isnot of .............cccoecviie i, origin.
The shares of Heineken NV reached a record level of 244.5 guilders yesterday on their
home market in Amsterdam, Holland. Heineken isa ..........ccccoceevviiininnnne, company.

The 'Societe de Bourse Franchise' publishes an annual guide to the 120 biggest national
companies whose shares are sold on the Paris exchange. The Paris exchange sells the shares of
the 120 biggest ........ companies.

Coroll have received several enquiries from companies who are interested in representing
products in Spain. However, for the time being they have no intention of expanding into that part
of Europe. Coroll has no plans to enter the ..., market.

IV. Advertising slogans
Read the slogans and match them with the products or institutions for which you
think they were actually used.

Get into our bed and sleep better ................... a. cosmetic cream

Down under: it's home to US .........cccveveeveeennene. b. ‘Nordic ski’ exerciser
Would Mrs O'Brien trust her precious soles to just anyone. c. Australian airline company
| went to work and left my wrinkles at home ................... d. socks

Waist disposal unit................... e. matress

V. Word-Field matching
Circle the word that does not belong in to the field in each horizontal group.

1 promotion export pricing packaging

2 clause client contract brochure

3 slogan fee money pay

4 star executive actor celebrity

5 to endorse to afford to promote to support

6 computer television commercial advertisement
7 publicity image reputation agent

8 to plummet to fall to rise to drop




VI. Compounds
Match the words on the left with the words on the right to make compound nouns

which are commonly used in advertising.

shops.

shops.

market a. audience
mass b. time
target c. media
direct d. symbol
status e. research
sales f. mail
prime g. promotion

VII. Do or Make

Complete the following sentences with the correct form of make or do.

Store managers ...decisions about which products to keep and which ones...away with.
Although that company has almost the same name as ours, we have nothing ....with them.
You should ....... certain that the customers are always satisfied.

In many cases, it .... sense to stock original products that cannot be found easily in other

He....... a living as store manager for over 30 years and does not plan to retire yet.
Could you .... me a favour and work the morning shift?
...................... workers redundant is never an easy task for a manager.

VIII. Prepositions
Fill in the blanks below with the correct prepositions.

Although Leila is young, she is already successful.................... business.

Itis necessary........cccoeeu.e. us to improve our after-sales service.

Is your computer compatible ........................ mine?

The customers are very critical .................. some of the products we sell.

We must be attentive ...........ccoeevveieiin e the needs of our customers.

1. Our customers are fond .....the 'personal touch' that we try to emphasise in each of our

IX. Business expressions
Match a word from each of the columns below to form expressions that could be

used to replace the words in italics in sentences. Write the answers in the space provided
after each sentence.

VERBS
check 6 raise
provide 7 change
move 8 withdraw
pay 9 earn
order 10 issue

NOUNS
capital f the bill
cash g interest

foreign h a statement



Yy
funds i shares
a loan J balances

In order to increase financial resources the company intends to sell units of its capital on
the SLOCK MATKEL...... ..o e

Nowadays it is possible to transfer money between different accounts using an electronic
banking system installed in your home. .........cccocoiieiieiie e

My bank has agreed to give me the money | need, repayable over three years, to help me
get the business started. ..........ccoocovrvrin s

It doesn't matter if the banks are closed when | arrive because I'm sure that at the hotel in
Zurich I'll be able to convert some dollars into SWiSS Francs. .........ccccoeeiveevvinenieenenieiens

X. Company’s performance assessment

Read the following authentic newspaper headlines and decide in each case whether
they reflect a good (+), average (0) or poor (-) performance of the company's shares on the
Stock Exchange.

Matsushita expects Y85bn profit boost..................ooeeiie

Welpac dives to £1.2m 10SS......ceovviiiiiiiiiiiiiienn,

Philips surges to £193m in third quarter.......................

Jump in Rhone-Poulenc income...................cocovvenn.n.

Bibby falls £10.7 intothered.................ooooiiiiiinit.

Sumitono Metal Mining tumbles..............................

XI. Commonly confused words.

Circle the correct word in brackets in each of the following sentences.

This report examines the (relationship/relation) between education and the level of
development in Africa.

During the meeting, he made a brief (illusion/allusion) to the decline in exports to
Western Europe.

Austria has been (accepted/excepted) into the European Union.

Of the two proposals put forward, | prefer the (later/latter).

(Who's/Whose) responsible for consumer affairs in this company?

XII. Countable and uncountable nouns.

In each of the following sentences indicate with a tick (V) or a cross (X) whether the
noun in italics has been used correctly. If not, write the sentence out correctly in the space
provided.

Their training has been organised to cover basic communication skills................ccc.cc ...

Over the years our company has accumulated a lot of experiences in the field of laser
SCANNING TECNNTGUES. ....etitiie ittt ettt et e be et sbe e et e ste e sbe e s e neens sens

Our premises are located in the centre Of BruSSelS. ....ccvcvviiiviiiiiie e

Businesses were especially good last quarter and this will affect our profits for the year...
The datas show a fall in the number of fatal acCidents. ..........ccccoeviriniiiiiinin

Karou:

Ne OtBeT
I

1 society
2 salary




product

assembling

strategy

distributor
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American

British

Dutch

French

Spanish
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export

brochure

slogan

executive

to afford

computer

agent

torise

le

2C

3a

4f

5d

69

7b

make, to do

to do

make

makes

has been making/has made

do

To make/Making
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in

for

with

of

to

o g wNE

of

X

1

2f

3d

4f

5h

6a

7c

8b

9

e e U A Rl R I

0.

10i

raise capital/issue shares

move funds

provide a loan

BlwiNE

change foreign money

+ |+

relationship

allusion

accepted

latter

Who's

\Y

X experience

\Y

X Business

ORI IO R W X0 0T R N =X

X data

Onenka/0aibl

Kputepuu onenku

Omauuno

90-100 % npaBUILHBIX OTBETOB

Xopowo

70-89 % mpaBHIBHBIX OTBETOB

Yooenemeopumenvno

50-69 % npaBUIBHBIX OTBETOB

Heyoognemeopumensno

49% u MeHbllIe IPaBIIIBHBIX OTBETOB

KDI/ITCDI/II/I M IIKaJIa OICHHUBAHHWS ITOCCIIACMOCTHU 3aHATHHA




[Toceuienue 3aHsATHI 00y4arOIIUMUCS ONPEAEAETCS B IPOLEHTHOM COOTHOLIEHUN

Banubl Kpurepuu ouenku
10 noceraemocts 75 - 100 %
5 noceraeMocts 50 - 74 %
0 nocenjaemocth Menee 50 %

4. Kputepunm M IIKajJa OLEHUBAHHUS Pe3yabTATOB OOy4YeHHMs] MO JAUCHUILIHHE
(MoayJ/110) IPU NPOBeIeHUM NPOMEKYTOUYHOM aTTeCTAlNU

Kpurepun u 1kajna olleHHBaHUs PE3YJIHLTATOB OCBOSHUS AUCIHUILINHEL (MOAYIIS)
_C 3a4eTOM

Ecmn oOyuarommiicss Habpas 3a4eTHOE KOJMYECTBO OAlJIOB COTJIACHO YCTAHOBIICHHOMY
JMana3oHy 10 AUCHUIUIMHE (MOJYJII0), TO OH CYMTAETCS aTTECTOBAHHBIM.

Onenka Bajibl Kpurepun oueHuBanust

Saumeno 60 - 100 Ha6paH0 3a4E€THOE KOJMYECTBO OAIJIOB COTTIACHO
YCTAHOBJICHHOMY JIMAIIa30HY

3a4eTHOE KOJIMUECTBO COTJIACHO YCTaHOBJICHHOMY

Hezaumeno MeHee 60
Jana3oHy 0aJutoB He HaOpaHO

KDI/ITCDI/II/I 1 IIKaJIa OOCHUBAHUA PE3YJIHTATOB OCBOCHWA AU CIHUITJIIMHBI (MOI[VJ'I?I) C
DK3aMEHOM

Jns nucuuiuinH (MoJysiei), 3aKaHYMBAKOIIXCS 9K3aMEHOM, pPe3yJIbTaT MPOMEKYTOYHOM
aTTecTalliyl CKJIaJbIBaeTcs M3 0aioB, HAaOpaHHBIX B XOAE TEKYIIEro KOHTPOJS W TIpH
MPOBEIECHNUH JK3aMEHA:

Ouenka Kpurepuu oueHku oTBeTa HA dIK3aMeHe (npumep)

OOyuatommiicss TAyOOKO ¥ MPOYHO  YCBOWJI ~ TNPOTPAMMHBEIFM  MaTepwadi,
UCYEPIBIBAIOIE, IIOCIENA0BATEIBHO, YETKO M JIOTMYECKM CTPOMHO €ro Hu3JIaraer,
YMEET TECHO YBS3bIBaTh TECOPHUIO C IIPAKTUKOM, HE 3aTPYAHSAETCS C OTBETOM IIpU
BHUJIOM3MEHEHUM BoIpoca. Biazeer cnenuanbHOM TEPMUHOIOTUEN, JEMOHCTPUPYET
OO0IIYI0 APYIAMIUIO B MPEAMETHOW OO0JIaCTH, WCIOJb3YeT IPH OTBETE CCHUIKK Ha
MarepHall ClIeLUaIM3UPOBAHHBIX HCTOYHUKOB, B TOM uKcie Ha IHTepHEeT-pecypcChl.

Omauuno

OOyuaronuiicsa TBEpAO 3HAaeT MaTepHall, [PaMOTHO U 10 CYLIECTBY M3Jaraer ero, He
JIOIyCKasl CYLIECTBEHHBIX HETOYHOCTEH B OTBETE HA BOIPOC, BIAAEET CIELHATLHON
Xopowo TEPMHHOJIOTHE Ha JOCTaTOYHOM YPOBHE, MOTYT BO3HHKHYTh 3aTPyIHCHUS IPH
OTBETC HA YTOYHSIONIME BOIPOCHI II0 paccMaTpHBacMoOW TeMe, B LENOM
JIEMOHCTPUPYET OOLIYI0 IPYIHIHUIO B IPESIMETHON 00JIaCTH.

O6yqa}0m1/11‘/'lcx HUMECT 3HAHHUA TOJBKO OCHOBHOT'O Mar€puajia, HO HE YCBOWII €ro
I[eTaﬂeﬁ, JO0IYCKAa€T HETOYHOCTH, HCAOCTATOYHO IPAaBUJILHLBIC (bOpMyJ'II/IpOBKI/I,
Yl)oeﬂemeopummww IJIOXO0 BJIAACET CHGHHaﬂLHOfI TepMHHOHOFHCﬁ, JOIYCKACT CYHICCTBCHHBIC OIIHOKH

IIPH OTBETE, HEJAOCTATOYHO OPHUEHTUPYETCS B HMCTOYHHMKAX CIIEHUATN3UPOBAHHBIX
3HAHUM.

OOyuatormmiicss HE 3HAeT 3HAYMTENBHOM 4YacTH MPOTPaMMHOTO MaTepHuana,
JIOITYCKAeT CYIIECTBEHHbIE OIIMOKH, HAPYIIEHHUS JIOTHUECKOI [TOCIEA0BATENLHOCTH B
Heyoosnemeopumenvro | N3I0XSHIN NIPOTPaAMMHOTO MaTepHaia, HE BIaJEeT CIEHUATbHOM TEPMHUHOJIOTHEH,
HE OPHEHTHPYETCS] B UCTOUYHHUKAX CHEHUATM3UPOBAHHBIX 3HAHWH.

Hert oTBeTa Ha MOCTaBJIEHHBII BOIIPOC.

Onenka, molydyeHHas: Ha dK3aMeHe, mepeBoauTcs B Oammsl («5» - 20 Gamnos, «4» - 15

6ammoB, «3» - 10 GammoB) m cymmupyercs c Oamiamu, HaOpaHHBIMH B XOJ€ TEKYILEro
KOHTPOJISL.




Hrorosas onenka no | CymmapHble 0a/LIbI Kpurepun oneHuBaHus
JUCHUILTHHE (MOAYJII0) 10 JUCIUILIMHE
(MoayJi10), B TOM
quciie
BrIMoTHEHBI Bce KOHTPOJIBHBIC TOYKU TEKYIIEr0 KOHTPOJIS
Omauuno 91-100 p yi P
Ha BBICOKOM ypOBHE. DK3aMCEH ClIaH
BrimomHeHBI Bce KOHTPOJBHBIE TOYKH TEKYIIEr0 KOHTPOJIA.
Xopouwio 81-90 P yi P
DK3aMeH cIaH
KoHTpobHBIE TOUKY BEITOIHEHBI B HETTOTHOM O00BEME.
Yooenemeopumenvno 70- 80
DK3aMeH cIaH
HeyooenemeopumensHno 69 u MeHee KOHTpOJIbHBIC TOUKH HE BBIMOTHECHBI WM HE CaH 3K3aMeH

5. 3ajaHus IMAarHOCTHYecKOW padoThl Il OLEHKU pe3yJbTaTOB O0y4YeHHsl IO

AMCHMILIMHE (MO1YJ/II0) B pAMKaxX BHYTPEHHEH M BHEIHell He3aBMCHMOM OLICHKH KadecTBa
oOpa3oBaHmus

O®OC comepX uT 3aJaHus IS OIEHUBAaHUS 3HAHUM, YMEHMH M  HABBHIKOB,
JEMOHCTPUPYIOIIUX ypOBEHb C(HOPMUPOBAHHOCTH KOMIIETEHIIMH W  HMHAMKATOPOB HX
JOCTH>KEHUS B IPOLIECCE OCBOCHMSI TUCIUTUIMHBL (MOIYJIA).

KommuiekT 3amanuii paspabotaH TakuM o00pa3oM, 4YTOOBI OCYIIECTBUTH MPOLEAYPY
OLIEHKU Ka)XI0W KOMIIETCHUUHU, (OPMHUPYEMBIX TUCIHUILUIUHON (MOIyleM), y o0ydaromerocs B
NUCbMEHHOI dopme.

ConepxkaHre KOMIUIEKTA 3a/IaHUN BKITIOYAET: mecmosgble 3a0aHUsl.

KoMmuiekT 3aaHuii AUArHOCTHYECKOM padoThI

YK-4 CnocoGeH oCymecTBIATh AOBYI0 KOMMYHHMKAIUIO B YCTHON M MHUCbMEHHON (opmax

Ha rocyJapcTBeHHOM s3bIke Poccuiickoit denepaninu 1 MHOCTpaHHOM(BIX) sI3bIKe(axX)

| Bapuanr

SOME FACTS ON THE DEVELOPMENT OF THE NUMBER SYSTEM

A Counting represents a very important milestone in the progress of civilization. Of
course there were no number names at first; so counters were used. For counters man used sticks,
pebbles, his fingers, and in some instances, his toes also. In fact the word calculus comes from

the Latin, meaning pebble; our numerals are called digits from the Latin, meaning finger.

B It is possible to mention only a few important achievements in the history of
mathematics. Historical records give evidence of the astronomical and arithmetical achievements
of the early Babylonians, Sumerians, and Chinese. Somewhere in the distant past man learned
that number was useful for civilized living. As early as 5,700 B.C. predecessors of the

Babylonians had calendar and a type of practical arithmetic.

C Only about 300 years ago a great mathematician and philosopher, Rene Descartes
(1596-1650), represented number pairs by points. This creation made possible the great advance

in science and mathematics during the eighteenth century. In 1642 one of the greatest minds of



all time Isaac Newton was born (1642-1727). Newton was one of the inventors of the calculus
which is now studied by college students who are seriously interested in mathematics or physical

science.

D Like Archimedes, Galileo, Copernicus and Newton, Lobachevsky (1792-1856) is one
of those who laid the foundations in science. Lobachevsky created one of the greatest

masterpieces of mathematics — non-Euclidean geometry.

E Our number system uses only the symbols 0, 1, 2, ... 9; it has base ten and positional
notation. Thus any integer can be expressed with these symbols in various combinations and
arrangements. The base of our system is ten. Ten is probably the base because we have ten

fingers and the fingers were used in the early stages of counting.

F It is not known when or by whom zero (nought) was invented. Historians thinks that
zero was introduced by the Hindus or the Babylonians not later than in the ninth century A.D.
and probably as early as the second century B.C. The invention of zero and our number system is
one of the greatest achievements of the human race, without which the progress of science,
industry, and commerce could be impossible. This new system was introduced in Europe by
Arabs, or Moslems, at about the beginning of the tenth century. These new numbers were used,

and finally, after about five centuries, the decimal system won the battle.

milestone — Bexa masterpiece — menesp

pebble — ranpka, OyIbDKHUK

Buvioepume omeem, coomeemcmeyrouiuii cooepicanuio mekcma

1. (3mun, YK-4) What was the turning point in the development of civilization?

A ... the development of geometry C ... binary system of notation

B ... counting D ... the invention of a wheel

3asepuiume npeonosricenue 6 cOomeemcmeuu ¢ OCHOBHOI memoil adzaua
2. (3mun, YK-4) The passage F is about
A ... the development of counting in Europe
B ... the progress in Hindus industry

C ... the spreading of the knowledge about number zero round the world




D ... the Babylonians
Onpedenume, 6 KaKkom ad3aye cooouaemcs

3. (3muH, YK-4) 0 ToM, 4YTO B IpEBHOCTH JIFOJU UCIIOIb30BANIM I cUETa HE LU(PBI, a MATIOYKH,

KaMCIIKHU U T.II.

4. (3mun, YK-4) Boioepume npeonosicenue, coomeemcmayrouiee co0epicanuio nmexkcma.
A Newton was the first who represented number pairs by points.
B It is well known when and by whom zero was invented.
C The Latin word calculus means sticks.

D One of the important achievements in the history of mathematics was the creation of

non-Euclidean geometry.
Ilpouumaiime nauano npeonoxcenus u evloepume e2o NPoOOJIIHCEHUE
5. (3mun, YK-4) The base of our system is ten because
A ... early Chinese used ten as the base for counting
B ... ten fingers were used in the early stages of counting
C ... Archimedes introduced this number
D ... mathematicians found this number very useful

Coommuecume oOanHble ymeepofcdeﬂuﬂ Cc coomeemcmeyrouiumu a63auamu mekcma

(A,B,C,D,Eunu F)
6. (3muH, YK-4) Ten numeration system came to Europe at about 10th century.
7. (3mun, YK-4) The modern form of calculus was invented by Newton.
8. (3mun, YK-4) At first numbers had no names.
9. (3mun, YK-4) The word digit came from Latin.
10. (3mun, YK-4) A point can be represented by a pair of numbers.
3amenume cjioeéo, oannoe 6 cxoﬂxax, AH2UTICKUM IKBUBATICHI OM

11. (2 mun, YK-4) (dpo6wn) like % represent values less than one.



12. (2 mun, YK-4) If (MmHOxecTBa) contain the same elements in exactly the same order they are

equal.

13. (2 mun, YK-4) (Cnoxenne) is the reverse operation of (Berunranwst).

14. (2 mun, YK-4) Two number lines are intersected to form a coordinate (miockocts).

15. (2 mun, YK-4) (Iyra) is a curved segment of a circumference.

16. (2 mun, YK-4) To find the value of the (mepemennas) we should solve the equation.

17. (2 mun, YK-4) The chess-board Geometric Progression is an (Bo3pacrartorias) progression.
18. (2 mun, YK-4) The common (cootnomienue) of a progression may be negative.

19. (2 mun, YK-4) The (u3mepenus) are to be as precise as possible.

20. (2 mun, YK-4) A (rpeyromsuuk) is a plane figure founded by three straight lines and

containing three angles.
21. (2 mun, YK-4) You can check (nenenue) by (ymHoxxeHnuem).

Bcmasvme ¢popmy cxkazyemozo

22. (2 mun, YK-4) Mike came when | the equation.
23. (2 mun, YK-4) He just a square.
24. (2 munH, YK-4) We a chord as a line whose endpoints are the points of a

circumference.

25. (2 mun, YK-4) Newton a professor of mathematics in 1669.

26. (2 mun, YK-4) Listen, she the second proof of this theorem now.

27. (2 mun, YK-4) Polynomials always more than one term.

28. (2 mun, YK-4) She just the result.

29. (2 mun, YK-4) The teacher about the features of plane figures now.

30. (2 mun, YK-4) Lobachevsky non-Euclidean geometry in the 19" century.
31. (2 mun, YK-4) The student used this theorem while he the problem.

3amenume MoOAAbHBLIL 27102071 IKBUBATICHI OM



32. (2 mun, YK-4) He must prove this statement.
33. (2 mun, YK-4) She can give the definition of closure.
Ynompeoume coomeemcmeyrowyro cmenenv cpasnenus
34. (2 mun, YK-4) He met his friend yesterday. (good)
35. (2 mun, YK-4) Public transport in London is (expensive) than in Paris.
Ilepegedoume npeonosrcenus
36. (2 mun, YK-4) The man standing at the desk is my research adviser.
37. (2 mun, YK-4) They expect to be given complete information by Friday.
38. (2 mun, YK-4) The problem being easy, the students solved it at once.
39. The problem is likely to be solved.
Ilocmaevme cnoea ¢ npaeujibHOM nop;wlce

40. (2 mun, YK-4) the news — yesterday — saw — television — | — on

KJIFOYM | Bapuanr:

1 B/2 C/3 A/4 D/5 BI6 FI7 C/I8 A/9 A/10 C/llfractions/12 sets/13 addition, subtraction/14
plane/15 an arc/16 unknown/17 increasing/18 ratio/19 measurements/20 triangle/21 division,
multiplication/22 was solving/23 has drawn/24 define/25 became/26 is giving/27 contain/28 has
checked/29 is speaking/30 developed/31 was solving/32 has to/33 is able to/34 best/35 more
expensive/36 UYemoBek crosmMi y CTOJa — MOW Hay4HbId pykoBoautenb. /37 Onwu
PacCYMTHIBAIOT HA TO, YTO MM JaAyT MOJHYI0 HHMopMaiuio K narauie. /38 Tlockonbky 3amada
ObLI1a JIEKOH, CTyAeHThl penni e€ cpasy. /39 BepositHo, 3amauy pemrat. /40 Yesterday | saw

the news on television.

Il BapuanT

THE DIFFERENTIAL CALCULUS

A The differential calculus is concerned with rates of change. In practical life we

constantly come across pairs of quantities which are related, so that after both have been



measured, when we know one, we know the other. Thus if we know the distance along a road
from a fixed point we can find the height above sea level from a map with contours. If we know
the time of day we can determine the air temperature on any particular day from a record of a
thermometer made on that day. In such cases we often want to know the rate of change of one

relative to the other.

B If x and y are the two quantities, then the rate of change of y to x is dy/dx. For example
if X is the distance of a point on a railway from London, measured in feet, and y the height above
the sea level, dy/dx is the gradient of the railway. If the height y increases by 1 foot while the
distance x increases by 172 feet, the average value of dy/dx is 1/172. We say that the gradient is
1in172.

C The mathematical part of the calculus is the art of calculating dy/dx if y has some
mathematical relation to x, for example is equal to its square or logarithm. The rules have to be
learned like those for the area and volume of geometrical figures, and have the same sort of
value. No area is absolutely square, and no volume is absolutely cylindrical. But there are things
in real life like enough to squares and cylinders to make the rules about them worth learning. So
with the calculus it is not exactly true that the speed of a falling body is proportional to the time

it has been falling. But this is close enough to the truth for many purposes.

D The differential calculus goes a lot further. Think of a bus going up a hill which
gradually gets steeper. If x is the horizontal distance, and y the height, this means that the slope
dy/dx is increasing. The rate of change of dy/dx with regard to y is written d? y / dx2. In this case
it gives a measure of the curvature of the road surface. In the same way if x is time and y
distance, d? y / dx? is the rate of change of speed with time, or acceleration. This is a quantity
which good drivers can estimate pretty well, though they do not know they are using the basic

ideas of the differential calculus.

E If one quantity depends on several others, the differential calculus shows us how to
measure this dependence. Thus the pressure of a gas varies with the temperature and the volume.
Both temperature and volume vary during the stroke of a cylinder of a steam or petrol engine,

and the calculus is needed for an accurate theory of their action.

contours — zeode3. ropu30HTAIb slope - ykion

gradient — rpagueHT, yKJIOH estimate - oreHuBaTH

steeper — 6osee KpyTOit stroke — xox




Boioepume omeem, coomeemcmeyouiuii cooepHcanuro mexkcma
1. (3 mun, YK-4) What is the purpose of differential calculus?
A ... to measure the dependence on other disciplines
B ... to find the value of one unknown
C ... to calculate related quantities
D ... to calculate the product of two quantities
3asepuiume npeonoscenue 6 coomeen cmeuu ¢ 0CHOGHOU memoii adzaya
2. (3 mun, YK-4) The passage A is about
A ...the applying differential calculus to our everyday life problems
B... the way of finding the height above the sea level
C... the way to determine the air temperatures
D ... the formulas used for differential calculus usage

Onpeoenume, ¢ Kakom adzaye cooouyaemcs
3. (3 muH, YK-4) o0 ToM, uTo nuddepeHiinaibHbie BEIYUCICHHS CTOUT U3y4aTh, TOCKOJIbKY OHU

HUMCIOT HIMPOKOC ITPAKTHUICCKOC ITPUMCHCHHUC.
4. (3 muH, YK-4) Boioepume npeonosicenue, coomeemcmayrouiee coo0epicanuio mekcma.
A Differential calculus deals with constant values.
B Differential calculus deals with one or more dependant values.
C Differential calculus deals with two or more independent values.
D Differential calculus deals with two values only.
Ilpoyumaiime nauano npeonoxcenus u evldepume e2o nPoooJidHceHue

5. (3 muH, YK-4) Differential calculus is applicable to know ...

A ... the Cartesian product. C ... the radius of a circle.




B ... the difference of two or more values. D ... the rate of change of one related value to
the other.

Coomnecume Oannvle ymeepiicoeHus ¢ coomeemcmaeyrowumu aozauamu mexkcma (A,

B, C, D umu E)

6. (3 mun, YK-4) Using differential calculus we can find out the dependence between the

volume and the temperature of gas inside an engine.
7. (3 mun, YK-4) We can find the rate of change of related numbers by the formula dy/dx.
8. (3 mun, YK-4) We often deal with two related quantities in our everyday life.

9. (3 mun, YK-4) The usage of differential calculus in our everyday life is like the usage of our
knowledge about volumes of geometric objects.

10. (3 muH, YK-4) Sometimes people use the basic ideas of the differential calculus without

realizing this fact.
3amenume CJ1060, oannoe 6 c1<061<ax, AH2UTICKUM IKBUBATEHIN OM

11. (2 mun, YK-4) A (rpeyroasuuk) is a plane figure founded by three straight lines and

containing three angles.
12. (2 mun, YK-4) ([Ipo6wn) like % represent values less than one.
13. (2 mun, YK-4) The common (cootromienue) of a progression may be negative.

14. (2 mun, YK-4) If (MmHOXecTBa) contain the same elements in exactly the same order they are

equal.

15. (2 mun, YK-4) You can check (nenenue) by (ymHOXeHHEM).

16. (2 muH, YK-4) (Cnoxenue) is the reverse operation of (Beruuranus).

17. (2 mun, YK-4) The chess-board Geometric Progression is an (Bo3pacTtaroriasi) progression.
18. (2 mun, YK-4) Two number lines are intersected to form a coordinate (miockocts).

19. (2 mun, YK-4) (Hyra) is a curved segment of a circumference.

20. (2 mun, YK-4) To find the value of the (mepemennas) we should solve the equation.

21. (2 mun, YK-4) The (u3mepenus) are to be as precise as possible.




Bcmagvme ¢popmy cxkazyemozo

22. (2 mun, YK-4) She just the result.

23. (2 mun, YK-4) The teacher about the features of plane figures now.

24. (2 mun, YK-4) Mike came when | the equation.

25. (2 mun, YK-4) We a chord as a line whose endpoints are the points of a

circumference.

26. (2 mun, YK-4) He just a square.

27. (2 mun, YK-4) Lobachevsky non-Euclidean geometry in the 19" century.
28. (2 mun, YK-4) The student used this theorem while he the problem.

29. (2 mun, YK-4) Newton a professor of mathematics in 1669.

30. (2 mun, YK-4) Listen, she the second proof of this theorem now.

31. (2 mun, YK-4) Polynomials always more than one term.

3amenume mMoOaIbHbLIL 211A20]1 IKEUBATIEHM OM
32. (2 mun, YK-4) He must prove this statement.
33. (2 mun, YK-4) She can give the definition of closure.

Ynompeﬁume coomeemcmeyroulyro Cmenenb CpaeHenus
34. (2 mun, YK-4) He met his friend yesterday. (good)
35. (2 mun, YK-4) Public transport in London is (expensive) than in Paris.
Ilepegedume npeonosicenus

36. (2 mun, YK-4) The problem is likely to be solved.
37. (2 mun, YK-4) The man standing at the desk is my research adviser.
38. (2 mun, YK-4) The problem being easy, the students solved it at once.
39. (2 mun, YK-4) They expect to be given complete information by Friday.

Hocmaevme cnoea 6 npasujibHOM nop}ldxe



40. (2 mun, YK-4) the Institute — does — live — he — near?

KJIFOYH || Bapuanr:

1 C/2 B/3 A/4 B/5 D/6 E/7 B/8 A/9 C/10 D/11 triangle/12 fractions/13 ratio/14 sets/15 division,
multiplication/16 addition, subtraction/17 increasing/18 plane/19 an arc/20 unknown/21
measurements/22 has checked/ 23 is speaking/24 was solving/25 define/26 has drawn/27
developed/28 was solving/29 became/30 is giving/31 contain/32 has to/33 is able to/34 best/35
more expensive/36 BepositHo, 3amauy pemat./37 YenoBek cTOSAMMI y CTONA — MOWH Hay4HBIN
pykoBoauTenb./38 IlockonbKy 3amaua ObLIa JIETKOW, CTyAEeHTHl pemmian e€ cpaszy./39 Onu

PACCUUTHIBAIOT HA TO, YTO MM JaIyT MONHYI0 nHpopManmio k nsatHune./40 Does he live near the
Institute?



